VsinGe Mooule C1 L1Z-%7 xS0~ ,J
__/_

WieTH 2.5
Lene, 327715

(mird) DIFF mY .84
(mad 9FF Ny 32,0

DiFE 1IN K (N\l“>

) S A A
COS& Wit H

Cosdh= 8.2Y4
l2|6
S cos” (_o‘ﬂoﬂw

£,= 4% vV CHEWED ACMNAST
MODE L

@Q: QO— O‘, gmcf'rm{ MODULE RAS A \?,\cvur\
\/ ANGE THAT DAWIDES THESE ANELE
87_ = U5

TUEY musT BE THE Sum oF Q0.
CHELRED AGAINST
MOoDTL-



LUSNG Mopue C1 (128" x3z'-q")J

WioTH 2SS
LENGTH 29,15

(min) DIEF W ECEY
(mad e Y 22151

o D Y (MAO
——————— w45 ) — \FFIN
3@‘4\ < © (,an' COS 0l ——m
i ﬁg)? COS@\ = —2-’%"‘51
: N L DIFFINY o
; \ - 1 61 = (os™ COJO?)
|
m%:__ N\ O, = us v CHECKED AG-A\NST
("?72'1 ‘-8.%31 0) . .
@2: ﬁO + %6 \/ CHECK'E-D
PCA\PST

jv] 32
‘ "l MODEL



LeveTtH = 2219
hyp > 31,9

D, - 39849

Ve Mobuce ¢1 (125" ¥ 31:4'1‘0)

W\PTH 17.-5

LENETH 22.15

QV\QN) DiFF IN X 23,16

(mN) DT W Y 22 .00
DiEF nY = Tan™ Ef_‘:_')i-)-(-> (v 1m)
Cos(6)= BiEEtet g = T (Twrmy /) (e

o 23l

B = T (S0

hyp * COSC&DZDFF |
hyp = DiFrinY

g = Tt (07237 5)

Cos (DD )
"\\( = 32 .00 6| = ‘55 8615 \/CHeLKEb AGAINST
’ 0.%! MoDEL

AGMNST

hyp= 2a.50 V cHwed (3 a0 - 35.89%

DEL o
bt @z‘ 54.105 \/ CHECKE D AGAINST

Bl = 180 — B ~Bysopeme

B -180- 255945 - 12%.00
G- 2,10 J CHELED @3 :

MODEL

0, = 90 51102
25.895° / CHELED ACARST

DIFF IN X A:::‘; ;‘g\. MODEL
| 0,2 -6 -0 LeneTd  hae
o g (B sw(Bw)
24D - 9105 -35.%
36395 an(&D e £ S0 (03)
b= 180+ & b, - 45 v cheuen e
- AGANST n v o (03)
97=)80+ 45 Mo D EL Oy= s <%
6, = 725 V (HEKXED O = s’ (%W
AGAINST | o e
anopkl- The o oF &N shtwse Oy= om” (_o.7o7D

< &gbuaal 1o

ang\e '
o ey Oy = o

bt OF &S

oo X

Mure weavt q\Ud‘Wy e Hrflc,mt \?35 OO = 5”99 levaent



USING MODUE cl (25" ¥ 37-9") [
Wiord 1.5

Qg LENGTH %2715
(max) DWF Wk 52,00
( minN) DeFinY 22.\6
5,85%
< e omax (5 A
aza N
& :
(] |
b < 1
2 <
EI) n Dier W Y ()
uw < 0 T —
g '\5, } C 59‘ LENg™
<Q\‘ COSB("' 235,16
MIN D= = = = - - - 2Q° 2275
\'\
(O, .57, 0)
Cos0, = 0.1017

9" = Cos-‘ (O \/IO\ID

&-u500 VY CHEWKED
‘ AGAMNST
Mol

@7_: 270 + B

@'7’ = 7_7 O+ “} 5
} S CHELKED MoA0S
87,’ 5\5 ANODEL-



q0

i I

X~ X+

Y+ \*

| @0
puin
X= X+
\/~ \/_
2770

T

max x 20 — = Lengih = Max X =0
Length, < MAX Y = wipTH

\

o

) /
Llh\l'"
il MAX X =0 MIN X = Lienrt NX =0
. X=>0o M =
Max x =0 max Y + min YO
M!NX 0) "
MAX X ~ INSERTIgN X = 0 PP <
1) >
MAXY - InSEpTign Y = LENGTH f;/'/ Max X ¥ - )-m) =MNX <0
MINX~INSENs1op X = ) MAX Y + minY=0
MmAxX X =0 WIDTH ) N
LENGTH 2 MAXT 20 | MWV - tmsermrony= | //“’*
; © & ,(\OV\ O\ & MIN = yNSERTION
—(_\f\luDTH)ZMIN X =0 rr‘é \é%;\é«/\\‘a i A, MAY X = [NSERTION X = LENGTH
\ \ / U\\;éh Q MAY Y = INSERriop Y = WIDTH
Moo [N
N\\ﬁsi"' — 9 ¢ oé . » .
’E[I_ f W 6“\ AMY—= I NSERTION X = WIDTH MAY X +
Liasr o 0 MAYY — \NSERTION Y = O MAX Y = O
x>0 MAX = ’L/‘O\
X = INSERTION MIN X — [NSSREMoN X = O
MIN X ~ |NsewrTion X =0 @ MINY — INSEETeN Y = LENGTH
MINY — |NSEXRTION T = WDTH \-N\m
_ MIN X = O
P, L.C’- ') " N
——(\»\\DrH) = MmN Y = ( R ::‘: )\(/ e MINX =0
\ -
Limt min X =0 —-CLEWTH) 2MnY < O
X—=>
x X =0 >
pTH < MA max X =0 |
W . 7,’ 5 LEA)GTH <= MAXX =0
l WipTH < MAKX Y =0



